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QUESTION 1

An organization has configured Distributed Power Management (DPM) on a vSphere 6 cluster. The organization wants
to be alerted when an ESXi host has been powered down by DPM. Which two options represent the type and name of
the alarm that would accomplish this? (Choose two.) 

A. DrsEnteringStandbyModeEvent 

B. DrsEnteredStandbyModeEvent 

C. Event-based 

D. Condition-based 

Correct Answer: BC 

 

QUESTION 2

Refer to the Exhibit. An administrator is adding an NFS datastore as shown in the Exhibit. 

What is the purpose of the Servers to be added list? 

A. It contains the IP addresses of the NFS Storage Server to provide multipathing capability. 

B. It contains the IP addresses of the ESXi hosts that mount the datastore. 

C. It contains the IP addresses used for Dynamic Discovery of targets. 
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D. It contains the IP addresses used for Static Discovery of targets. 

Correct Answer: A 

 

QUESTION 3

Which of the following options are configurable in a Resource Pool? (Choose two.) 

A. CPU affinity 

B. CPU Shares 

C. Startup/Shutdown order 

D. Memory Limit 

Correct Answer: BD 

 

QUESTION 4

What are two benefits of using NFS 4.1 with vSphere 6.x as compared to NFS 3? (Choose two.) 

A. NFS 4.1 supports Kerberos Authentication 

B. NFS 4.1 supports multipathing 

C. NFS 4.1 supports IPv6 

D. NFS 4.1 supports hardware acceleration 

Correct Answer: AB 

 

QUESTION 5

A vSphere administrator needs to backup a virtual machine that has a Microsoft SQL Server Database 

installed. 

Which solution allows for an application quiesce to occur during backup? 

A. VMware vCenter Converter 

B. VMware vCenter Site Recovery Manager 

C. VMware vSphere Replication 

D. VMware vSphere Data Protection Advanced 

Correct Answer: D 
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